FehllEAR R =

SREL %34

TEMVNE—FE (THIBE - ERYBi L)

ST549A11H

REFH T LR F DEH T PELF
SINE | 535 | #EATIRA | | SCIE | 5935 | #OERIRA | | SOE | 595 | HERRA | | SHE| 55 | #hER R4
1 |81 BER 1 | FE1| =R 1 | %1 | mRIE 1 |81 EER
2 |&E2| BNE 2 |&E2| WEBR 2 |E2| AdmE 2 |%E2| EHER
3 |FEL| AR 3IFL| ERE 3 [H1| AR 3 |1 WRE
4 |F2 | EBER 4 [F2| FINER 4 [F2| ok 4 |E2| BHE
5 |1 KR 5 [F1| BEE 5 |F1| BEE 5 |H1| AR
6 [#£2| WDoK 6 |F2| AFRE 6 |FE2| KIRAF 6 |H2| HBER
7 |EL| RLE T |E1| RER 7T |E1L| BLE 7T E1| ERER
8 |F2| BHE 8 |HE2| ZER 8 |H2| FINK 8 |&E2| AFR
9 |HF1| ZEBER 9 |FE1| BINE 9 |1 WEER 9 |E1| ZHEE
10 |2 | BERBER 10 |2 | BRE 10 |2 | FHFEHS 10 (2| L&
11 |&1| BEE 11 |#E1| BER 11 [E1]| BFER 11 [%F1| dhisE
12 |2 | RERE 12 | 2| EEE 12 |2 | BB 12 |%F2| wmEE
13 |%1| AuEE 13 |%FE1| ZBE 13 |81| FRE 13 [H1]| TER
14 |E2| BEE 14 |E2| FHRE 14 |E2| Bk 14 |2 FBER
15 |%E1| KRF 15 |81 FHEH 15 |81 ZEmk 15 [FE1| EER
16 |F2| &HHEE 16 |2 | HEE 16 (2| BEE 16 |2 | HHEE
17 |E1| AFR 17 |%1| BHE 17 |1 fERE 17 |1 BRE
18 |2 | THEE 18 |2 | KW 18 |82 RERE 18 2| mER
19 |81 RER 19 [H1| EER 19 |F1| ERER 19 [F1]| ERER
20 2| EBHER 20 2| fREE
21 1| HER 21 |1 | dciEE
22 |2 | BEER 22 |F2| FTER
23 1| HER 23 |®1| HER
24 |2 | EmE 24 |F2| BREE
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